 Rdall g o al) g I Baasal) By Y gl A gl alsy) 1(1) Byl
HCIl — NaCl - CH3COONa - CH3COOH

( kohlrausch's law) Gis A sS 58 e alaic Yy
Am =Ag—ANC

2l el ()Y (strong electrolytes)is &l il s jSI) e Gagl 68 0 58 3l
.(fully ionization)

Q: How can you find Ao for weak electrolytes such as CH;COOH?

SCH3COOH Lin s ddpuall cilidl 5y A g alag) sy oS /o

Ao (CH3COOH) = [Ao (HCI) + Ao (CH3COONa)]J - Ao( NaCl )

rJarl) 43y 4l

Gkl (0.08, 0.04, 0.02)M 4l 581 53l juiaad 25 3€ 51 1 e HCI (0.1M)
(TN | P PHE

M: Vi= M V;
0.08*50= 0.1*V;
0.04*50=0.1*V;
0.02*50= 0.1*V;



CH3COONa (0.1M) 5 NaCl (0.1 M) :Jllaall 4 5 5lall o3a 5 i

Conc.(HC)|  0.08 0.04 0.02
JC
k(mS.cmb)|  0.32 0.23 0.17

Am(mS.mol™t.cm?)

Conc.(NaCl)| 0.08] 0.04 0.02
JC
k(mS.cm?)| 024 018 0.12

Am(mS.molt.cm?)




Conc.(CH3COONa) 0.08 0.04 0.02
L
k (mS. cm?) 0.16 0.1 0.04

Am(mS.molt.cm?)

Ao




